IE(X%)4% BRETE60E MERAMR ERHRBEISE
BA Al =] SHM5FEIATA

I 8 B % TR—=HK

A #HoA R — MR E A KL

F OE O O#% 11,630,000 (Fi1k)

&= & &l [R ff 4%
(FR & &AM

10,467,000 (Fi$k)

* AL EFERARRE D5 S (T REFH RMERETY

THEX(H) 10,467,000 O




IE(X%B)4% HETES4E BiE(FAE) HEEEIS
I = £F1549 776

I &8 B %» EE

. Y B ¥ —HEBE S AL

¥ OE % 2,587,000 (Fi#k)

B 15 I R i 1 2,328,000/ (%i$K)

(FR & &AM

* AL EFERARRE D5 S (T REFH RMERETY

1 (%) T—Yo— 2,328,000 h:E
2 (B) 71E% 2,328,000 h:E
3 (F)HEm*E 2,328,000 h:E
4 (B EBHEX 2,328,000 iipe
5 (\)TU)a— 2,328,000 h:E




TE(%%B)4% RETES1E TEMIZ495HR WMEBEIE

B #l H SF5F9A7H
I & K % L
A HoAF R — &3S AL

¥ OE MO 2,180,000 (Fitk)

= 1§ | BB i & -
i B 1K) 1,962,000 (Fi1k)

* AL EFERARRE D5 S (T REFH RMERETY

1 () T—o— 1,962,000 iR
2 (B 7AEH 1,962,000 iR
3 (7)) HEMEHE 1,962,000 iR
4 (B) ARFEEK 1,962,000 iR
5 (k%) TH24E 1,962,000 @) e
6 THREX(H) 1,962,000 iR
7 (A)EHFEX 1,962,000 &
8 (B)T)a— 1,962,000 %
9 THEMH) 1,962,000 hiE




TE(XHB)A HEEXK—215 mEBEAM1055H1 KFEEIBISE

5 l =] THS5FEIATAH

I & K & TR—=K

A HoF R — iR F AFL

¥ OE MO 2,099,000 (Fitk)

= 1§ | BB i & -
i B 1K) 1,889,000 (Fi1k)

* AL EFERARRE D5 S (T REFH RMERETY

1 (k) HBERHE 1,889,000 iR
2 (B YK 1,889,000 iR
3 (B) ARFEEK 1,889,000 iR
4 (k%) TH24E 1,889,000 iR
5 H\E)To)a— 1,889,000 @) e




IE(X%)4% BEtES2E REHT EEBSEIS
BA Al =] SHM5FEIATA

I 8 B % TR—=HK

A #HoA R — MR E A KL

F OE O O#% 1,622,000 (Ft1k)

&= & &l [R ff 4%
(FR & &AM

1,459,000 (Fi1k)

* AL EFERARRE D5 S (T REFH RMERETY

1 (B) ARHESR 1,459,000 O
2 RFEEH () 1,600,000
3 B\)T)Ia— 1,620,000




TE(XH) 4 RETE3E MERRIIRBRSEREIS

5 l =] THS5FEIATAH

I & K & TR—=K

A HoF R — iR F AFL

¥ OE MO 40,909,000 (Fi1k)

= 1§ | BB i & &
i B 1K) 36,818,000 (Fi1k)

* AL EFERARRE D5 S (T REFH RMERETY

1 (B)HEMAA 36,818,000 2
2 THEZE(H) 36,818,000 O 2

3 T HEHM(H) 36,818,000 2




